#£3 5028775 2EFHERS

WH: I8 BIAK0BBILTZ (k22598158 (k) :BER—L)
1 2 3 4 5 6 7 8 9 10 | 11 12 | &&t| E
ZITH 0 1 1 0 1 2 3 1 3 12 —
I/ EYETKROB| O 1 @) @) @) 1 3 @) 3 8 1
IRLERKES 0 0 0 0 0 0 0 0 0 0 2
ZITH 0 0 1 3 1 0 0 0 0 5 —
(B3F] <HRUEERERSD>
17| <@ K& 1@ (20 | 3@ | 4@ | 5@ [ 6@ | 7@ | 8@ | 9@ || 1% | 287 | 1= | B2 | &8
1 D =8%A | —J0 TR HEiE =R 4 1 1
2 4 ESB7H: | AR —J0| o W10 3
3| 6 Bt | =ik —J0| —® a7 4 1
3 EREFIA i | Pl ]I i | 3 1
4 H RS BEE 1
R MESZ K
5 |7 | FEEAR 870 Al 3R 3 1
H NIFE BR 1
6 2 hBRE ch7R =1:0] ch7R 3 1
H FAFFARRE WEDP
7| 8 ENES = | =& TR 3 1
a2 INR)I|E B 1270 2
2 SHEA G 1
9 5 BESE —Jo A =R 3
(&F] <HRUEERESD>
K& [ 1S |8 23 | sem | 137 |meER| = Km |BEm| (BEERF) E@B%
BE 6.33 26 | 101 6 5 1 2 4 2 (Z2#7] ol
=5 2 12 | 42 4 1 2 2 4 4 [=£47)
# 508 066 3 6 2 0 0 [(ARE17)
(BF] <HRUESRESD>
K& BIR TEn= SR sE BER
=ES
SHEA
(BHF) <TAPVEBTK> BESZR:FL
7| 9@ K3 10 [ 2@ | 3@ | 40 [ 5@ | 6@ | 7@ | 8@ | 9@ || :I®/ | €T | Im | BE | £&E
1 4 8480 =R B/A 81 0 = —Ri 5 3 1
2 5 WAl PR i3] HZ | =ik V9Ek 3 1
3| 6 (LA UK TR BT | BT 0 pEg || 3 1 2
4 D S s bits Gl EA | Gl 5 3 2 1
5 3 5k = —J0 —_DP am | R 5
6| 7 B0 = —7R &= | =k 4 2
71 o & Al ERE BE | =70 3 1 2
g8 2 D = — 7 —7R mER || 3
of s 3116 18710 5 th— B 2 1 1
BFETHR . =R
(1BF) <TAPVEBTK>
K& == 18 | BB | 297 | = | 4837 | mWEERR| = £m |B8qa| [BRERF] WO
o 9 33 | 117 | 5 1 3 0 0 (Z24] WAR. 80, FiB
(=247] B0. #a0
[RE47]
(@F) <TAPYVEBTK>
K& Pk TE2phE FRRSE HER|

il




